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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
OO oPNd Bed -
(@) Mention a relationship between the

capital-output ratio and productivity of
capital.

T -TATH TS WE Joed SeATHA SR
&S Go! 3= ey 941 |

8A/983 ( Turn Over )



(b)

(©

(d)

(e)

(9)
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(2)

What does K refer in equations used by
Domar in his growth model?

TR (06 Nm  WiRe IRE  F4I
FANFIPRT K-3 9 {52

What is meant by Gini Coefficient?
ot @ense 3ot & =02

What constitutes the ‘invisible hand’ in
the classical theory of growth?

TR IR e el TS e side
[ ?

To whom is the optimum theory of
Population related?

SPRAR ey ©g T M0 THO ?

Who has popularized the concept of
vicious circle of poverty?

IRES 2 S 4elichl (I S SRR 2

Mention a cause of growing importance

of the technical progress in the growth
Process_

O afire wRed S IHC @I b
PR w357 |
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(3)

(h) What is backwash effect?
POIR-F 2

(i) Define economic growth.

ez 3 e o |

() Which sector absorbs the surplus
labour in Lewis model?

e T @001 9 Tge AT wkaz IR
AT ?
2. Answer the following questions : 2x5=10
Cod PR Teq e

(a) Is there any relation of per capita
income with inequalities of income?

R SpEeR oo SRR WA 1 o
HTREATS 2

(b) Distinguish between GNP and GDP.
T AT o F TG TeATE AT AL
=

(c) What do you mean by human capital?

TR Jeiee Jfercat 18 38 2
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(4)

(d) How can division of labour be an
instrument of growth?

= ReTee Tamee 9B F S ?

fe) Mention two basic assumptions of
Arthur Lewis theory of unlimited supply
of labour.

A TRF 2 TR @A ©GOE Hol e
SfSyrRen Seay T 1

3. Answer any four of the following questions :
Sx4=20

O] HNRRT R e vif¥tE ey forn -

(a) Mention the characteristics of
stationary state.
TR SREE AFErTER SoE 0 |

(b) Explain with the help of diagrams the
concept of vicious circle of poverty.

e srrre wRuer 78 o 4T 1 4 |

(c) Explain the basic indicators of
development.

SIS T AR M=oz I 41 |

8A/983 ( Continued )



(S

(d) What are the shortcomings of Lewis
theory of unlimited supply of labour?

e AT W @ Ogd ACTRIRITHR
2

(e) Explain the differnt types of capital-
output ratio. ‘
{ﬁﬂ‘l—%ﬁ"ﬁﬁ e req BIEE| AP AT
Bl

() . Explain Inverted-U’ curve of Kuznets.
FEC64 Inverted-U’ @1 101 F47 |

fgg What are the conditions of balanced
economic development?

-G THE DOTR 9 192

4. Answer any four of the following questions :
10x4=40

oq 2PAEd [ @I BifRoE Teq forey -

(a) Examine the appropriateness of gross
national income and per capita income
as measures of country’s economic

development.
PR AR SR cwvE ifRen ¥ 3
B TE HF GEYR W WAgEe [{e|
sl

8A/983 ( Turn Over )




(b)

(c)

(d

(e)
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(6)

Discuss the Harrod-Domar model of
growth.

TR (24 T-C TR SECO! STl A |

Explain the various obstacles to
economic development.

TefAfee T Rivw efsqaesz amm =1 |

Explain the indicators of human
development index. Why is it regarded
as a better measure than per capita
income as a measure of development?

A % T o] TR I 40
R IRee St TER AT A TR
SHSLE T o0 TF PP TS T AT
=2

Explain the basic ideas of unbalanced
growth strategy. Is it a suitable strategy
of economic development for a
developing country?

SPREeTS T wgtM Wl 49l [ w0
(PR AT TAF (TGO % =S
TS |
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(7))

() What is incremental capital-output
ratio? Give its uses and limitation in

planning.

e TRE-CAMT TS YRH 0
HRTF® G2 YRIOR J9TF F  HHREe
i :

(g) Critically examine the classical theory of
development.

afee TwmER REe  ©Enl s
231 Ro| 411

* % &
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